

$$\lim_{x \rightarrow 2} \frac{x-8}{x^2+ax+b} = -\infty \rightarrow \frac{-1}{x^2+ax+b} = -\infty \quad x^2+ax+b = (x-2)^2 = x^2 - 4x + 4 \quad -1$$

$$a = -4 \quad b = 4 \quad a+b = 0 \quad \downarrow$$

آرین نوری

$$\lim_{x \rightarrow \sqrt[3]{4}} \frac{x}{x^2+ax+b} = +\infty \rightarrow \frac{\sqrt[3]{4}}{(x-\sqrt[3]{4})^2} = \frac{\sqrt[3]{4}}{x^2 - 2\sqrt[3]{4}x + \sqrt[3]{16}} \quad a = -2\sqrt[3]{4} \quad -2$$

$$b = \sqrt[3]{16}$$

$$\left[\frac{\sqrt[3]{4} \cdot \sqrt[3]{4}}{-2\sqrt[3]{4}} \right] = \left[\frac{\sqrt[3]{4}}{-2} \right] = \left[-\frac{1}{2} \right] = -1 \quad \downarrow$$

$$\lim_{x \rightarrow \frac{1}{\sqrt{2}}} \frac{[-x] + a}{\left| \frac{\sqrt{2}}{x} + a \right| + a} = -\infty \rightarrow \frac{-1+a}{\left| \frac{1}{\sqrt{2}} + a \right| + a} \quad \frac{1}{\sqrt{2}} + 2a = 0 \quad a = -\frac{1}{2\sqrt{2}}$$

$$\frac{-\frac{1}{2\sqrt{2}}}{\frac{1}{\sqrt{2}} - \frac{1}{2\sqrt{2}}} = \frac{-\frac{1}{2\sqrt{2}}}{\frac{1}{2\sqrt{2}}} = -\infty \quad [a] = \left[-\frac{1}{2\sqrt{2}} \right] = -1 \quad \downarrow$$

$$x > -\frac{1}{\sqrt{2}} \quad \frac{1}{x} < -\sqrt{2} \quad \frac{1}{x^2} > 2 \quad \frac{1}{x^2} > 1 \quad \frac{-2}{x^2} < -1$$

$$\frac{19x+9}{25x+12} \rightarrow \frac{1}{0^+} = +\infty$$

$$\lim_{x \rightarrow 2^+} \frac{x^2-4}{x^2-[x^2]} = \frac{x^2-4}{x^2-4} = \frac{(x-2)(x+2)}{(x-2)(x^2+4+2x)} = \frac{x+2}{x^2+2x+4} = \frac{4}{12} = \frac{1}{3} \quad \downarrow$$

$$\lim_{x \rightarrow -1} \frac{x^2+10x+14}{12+9\sqrt[3]{x}} = \frac{0}{0} \xrightarrow{\text{هوسپیتال}} \frac{2x+10}{\frac{9}{\sqrt[3]{x^2}}} = \frac{-9}{\frac{9}{\sqrt[3]{4}}} = \frac{-9}{\frac{9}{12}} = -12 \quad \downarrow$$

$$\lim_{x \rightarrow 0^-} \frac{\sqrt{1+3x} - \sqrt{1-x}}{\sqrt{1-\cos x}} = \frac{\sqrt{1+3x} - \sqrt{1-x}}{\sqrt{2\sin^2 \frac{x}{2}}} = \frac{\sqrt{1+3x} - \sqrt{1-x}}{-\sin \frac{x}{2} \cdot \sqrt{2}}$$

$$\frac{K + \cos(\pi x)}{x^2} = 3 \Rightarrow K + 1 = 0 \quad K = -1$$

$$\lim_{x \rightarrow 0} \frac{-1 + \cos(\sqrt{a} x)}{-x^2} = 3 \quad \text{آرین شری}$$

-1

-9

$$\lim_{x \rightarrow -1} \frac{1 - K[x]}{x^2 - 1} = -\infty$$

$$\begin{cases} -1^+ \rightarrow \frac{1+K}{x^2-1} = \frac{1+K}{0^-} = -\infty \\ -1^- \rightarrow \frac{1+2K}{x^2-1} = \frac{1+2K}{0^+} = -\infty \end{cases}$$

-10

$$1+K > 0 \rightarrow K > -1$$

$$1+2K < 0 \rightarrow K < -\frac{1}{2}$$

$$-1 < K < -\frac{1}{2}$$

در تمام مقادیر